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K= MR
T #4535 AR EftE TF
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1 EHEITE
(1) g L
7w E (NEHBE) 5.65 m X 2 m+ 1 mX 15.7 m= 27.0| nof |%P-ET.:10/21
A BEEEREAATT (RESE) 1(D)7IZFET 27.0] nf |%P9-EET.M:10/21
v OWNEME R RS (&4 omEL T NS ckfE)
- A= i 250 mX  BE 2.78 m+ wtr 0.34 mX( fF 1.528 m+ 1§ 1.1 m)= 79! m [X:10/21
- B wii 3.85 mX( WE 2425 m+ w7 0.17m)+ BE  3.55mX #F 0.165 m= 10.6| nf [X:10/21
it 18.5| nf
(2) BikI=H
=07
- VA L RED B ER 1.62 m+ 1.22 m= 2.8 m |X:17/21
- IRl L BEELYD AU 0.325 m+ 1.22 m+ 0.325 m+ 1.620 m= 3.5 m [X:17/21
it 6.3 m
(3) EEILFE
T ORENZALEY (BGZAVIED ) wir 3.85mX( BE 2425 m+ =i 0.17m)+ ME 355 mX E  0.165 m= 10.6| nf |X:10/21
- BTNy T ERL wii 270 mX 0§ 0.17m=+( =7 270m— #F  0.30 m)X #§ 0.165 m= -0.9| nf [X:10/21
- TEAERR < nir 1.573 mX g 1.20 m= -1.9] nof [X:10/21
it 7.8 ni
A4 BEEAXALEBY (BGXAVIED )
- JEBAKIA fis 1.695 mX #E  0.095 m+ #s 1.695mX ME 1.075 m+ ¥:13/21
msC 0.66 mX WE 2.76 m+ ®ms 0.290 mXx( #E 1.225 m+ #F  0.17 m+ X:13/21
g 0.165 m)= 4.3 o |X:13/21
- JEBHXB #ms 2,645 mX( g 270 m+ B  0.26 m)+ ®s 259 mX #F  0.87 m= 10.1] m [E:13/21
- JEBAXIC @ 0.44 m+ @ 0.05 m)X g  0.99 m+( @ 258 m-+ ®  0.06 m)X( [¥:13/21
g 0.0l m+ 1§ 0.68 m)+( ms 258 m+ @@= 0.06 m+ @ 0.05 m)X X:13/21
= 1.00 m= 500 m [X:13/21
- FEBAXID fis 238 mX fE  1.573m+ ®s  266mX ME  1.20 m+ X:13/21
@isC 0.045 m+ @s 2.655 m)X HE  1.05 m= 9.8] m |X:13/21
29.2| nf
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(4) WL
7T OWNERAZALEY (BERK) 1(4) 7IZFT 78] m
A4 WERAZANLVIED (IR=EEE) 1(4) AT 29.2] nf
v E= VAR (BACE)
- FEBHIXA 1.867 m= 1.9 m [X:12/21
- FEGAXB 2.50 m+ 0.34 m= 2.8 m |¥:12/21
- EBHXC 0.16 m+ 1.50 m+ 0.155 m= 1.8] m [X:12/21
- FEBAXID 2.02 m+ 0.82 m= ¢  0.15 m= 3.00 m [X:12/21
at 9.5 m
T FHIFHEEEVY - 5 -} RBRE (A=)
- RKI 1(1) 7 A= 7.9 nf
- JEBAXIA s 2435 mX  ME 1.867 m+ @ 049 mX ME  0.925 m= 5.0 nf |X:12/21
- FEGAXB #s 2435 mX @ 2.84 m= 6.9] m [X:12/21
- ERHXIC @wx  1.353 m+  @x 1.082 m)X( ©#E 0.6 m+ #E  1.50 m+ #F 0.155 m)+ X:12/21
W 0.645mX & 0.933m+ @s  2.04mX §§ 0.044 m= 5.1 of [X:12/21
- PRI s 2,585 mX( & 2.02m— #w+& 0.10 m)+ @ 2435 mX( BE  0.82 m-+ X:12/21
Ak 0.10 m)= 72 m |X:12/21
it 32.1| nof
Z T HUEHEORERBRE (A=)
- BiAH (Shim) s 1.45 mX( Fa 1.50 m+ w&m  0.45 m+ =& 150 m+ wm  0.45 m)+ X:12/21
w 1,50 m X 0.45 m= 6.3 m |X:12/21
- BiACHR (PNi) i 0.43 mX 0.47m+ £ 043 mX 0.43 m+ r&  0.43 mX 4:12/21
0.47 m+ /& 0.43 m X 0.43 m) X 9.00 vA= 7.00 o |X:12/21
- HEAR (Shm) #is 0.85 mX( FE 0.95m+ m&  0.35m+ #@ 095 m+ wm  0.35 m)+ ¥:12/21
® 0.95 mX 0.35 m= 2.5 nof [X:12/21
- LA (P i 0.33 mX 0.90 m+ A  0.23 mX 0.33m-+ F&  0.33 mX X:12/21
0.90 m+ /£ 0.23 mX 0.33 m)X 3.00 v A= 2.2 m [X:12/21
7t 18.0| nf
A TR SR I RBAE (A=)
Jii A == R 2.00 m X 0.85 m— 0.70 m X 0.20 m— »»  0.30 mX
0.60 m= L4 nof |X:11/21
¥ EP@EE (k=) 1(4) =: FHIFgAEEE LK —NRBFE (BiA =) IZ[RIL 32.1| nf
7 EP-G&EE (A=) 1(4) A T HIGHEEASERBAE (i 4<==) (IZRIC 18.0| nf
o SOPEREE (BiAc=) 1(4) 77 T HIFREE S im RBAE (i A< ==) (Z[F] T 1.4 nf
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a REF AL (IBERE) (D)7 w=ICFET 10.60| nf
P Ky vvarzaTiEY (HKE) 1(D) D PAEICFT 79| nof
B) fLhFz=v |
7 MRS 3.00 #= 3.0 H |X:13/21
A IT7 RNy rHEE (RIRET, ) nii 2,70 mX g 0.17 m+( = 270 m— = 030 m)X WM& 0.165 mX
#s 0.475 m= 0.40 m'= .ol = [X:10/21
voANAT NIy (A THE) 1.00 = 1.0l A |X:11/21
= HRELV—/— 8=%) 1.00 = 1.0| A [X:11/21
F TAIRTY—r (43%5) 1.00 = 1.0| #1 |X:21/21
B AR LL—/— (4 35) 1.00 #H= Lof #H |B4:21/21
2 ®MERLEFE
(1) 1 FEEEHAN 4.00 m= 4.0 m |E:19/21
2 VEaryir—7nu 8.00 m= 8.0/ m |X:19/21
(3) =k b (2P15AX2) 1 = L.of 47T |X:19/21
(4) =z b (2P15AX3) 1 &= 1.0| T |X:19/21
(5) AA w»F (IPIBAX 1, PLX 1) 1 = 1.0[ @i |X¥:19/21
(6) AA wvF (IPIBAX 2, PLX 1) 1 fEifr= 1.0| & |X:19/21
(1) VE'=ar (ks 1 fll= L.o| f& |X:19/21
(8) LEDMEHAZRE. (N—RF 4 FEHIE) 1 Efr= 1.0 @& |X¥:19/21
(9) LEDHEHIZRE (77757 v MEHIE) 4 = 4.0| & |X¥:19/21
3 HEBRE R L
(1) #a/KE (154) fakE=y 7 0.10 m= 0.1| m |X:16/21
(2)  #aAKE (204)
- = 7 JL20A 0.10 m= 0.1| m [X:16/21
c BTNy T NELE 1.63 m+ 0.25 m+ 0.25 m+ 0.25 m= 2.4 m [X:16/21
- BA (ReEasfhin) 0.52 m+ 0.775 m+ 0.775 m= 2.1] m [X:18/21
2.5 m
(3)  Fask%E (25A) & 0.40 m+ 0.50 m+ 2.00 m= 29 m |¥:16/21
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K= MR
T #4535 AR EftE TF
% W 1 H E | HAL fii
(4)  #aEE (204)
s H TNy Il 0.26 m+ 0.26 m-+ 0.26 m-+ 0.70 m= 1.5 m |X:16/21
- WA 1.655 m+ 3.50 m+ 1.655 m+ 0.216 m= 7.0l m |X:16/21
- BA (FeiGEsfhr - KikE M) 0.245 m+ 0.245 m+ 0.90 m= 1.4 m [XK:18/21
9.9l m
(5)  faE (254)
A A A | 1.6 m+ 0.07 m= L7 m |[X:16/21
- Tl 1.08 m—+ 0.235 m= 1.3 m |X:16/21
- BAN (REGERfTT - KEE ) 0.52 m+ 0.37 m+ 2.2 m= 3.1/ m [X:18/21
6.1 m
(6) PRI (Fa7KE - Fa5E) EPN20A 3(40): H TSy ZNITRL 2.4 m+ 356): BTy 1.5 m+ [X:16/21
3(5) iR Z R 7.0 m= 10.9] m
(1) fRIE (FaKE - fB5E) EN25A 3(5): BT 8y 7 NIC AL 1.7 m+ 3(5) I FE ANz FEIC 1.3 m= 3.0l m |X:16/21,18/21
(8) PRI (FaKE - %) Eoh20A 3(5): BAMZIFIL 1.4 m= 1.4 m |X:18/21
9) fRIE (FaKE - (G5E) EBAL25A 3(4): BAMCIRIL 2.9 m+ 3(5): BAMZIFIL 3.1 m= 6.0 m |X:18/21
(10)  H A% (20A) 0.15 m+ 0.52 m+ 0.15 m= 0.8] m [X:18/21
(11) H A% (25A) 5.40 m+ 1.00 m= 6.4 m |X:18/21
(12)  —fBIp%A (20A)
HAERR— 3T 2 fEpT= ( #alaslZ &R X 218) 2.0 f& |E:18/21
(13) —xFr¥E
77— kL7 (204) BRAME ARG K A 1 X 28 + Kk 1 = 3.0 fE |X:18/21
A4 Z— h3L 7 (251) AL S FH 248 2.0 fE |IX:18/21
(14) WA 2 B5= 2.0 & [X:18/21
(15) BAKE (¥ U —ftx) 4 H= 4.0 B |X:16/21
(16) BHEA T 1 5= 1.o| & |X:16/21
(17)  vemibpie 1 fl= 1.0| A |X:16/21
(18)  # 5 A+t 2 B= 2.0 & [|X:19/21
(19) xR Z7 VU VEUS 2 B= 2.0l & |K:19/21
(20) IEKUE FRERAE 2.645 m= 2.6| m |X:13/21
(21) VMR 1 fi= 1.0] #A :16/21
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K= MR
L5453 IR S s T8
4 R 1 H B | BT fii

4 WELEHE

(1) =V 7#E 1(2) AL 6.3 m |X:17/21

(2) BTNy THE 1(5) ZIZIFIT .ol = [X:10/21

(3) FANMIENL 1(4)7+1(4)AIZ[FAT 37.0| nof |X:10/21,13/21

(4) B = VIEARE 1(4)viZFEL 9.5/ m |X:12/21

B) Ervyvvarzuris 1(4) AIZFT 79 o |X:10/21

(6) TMtAEGERE 0.455 m X 0.455 m X 3 M= 0.6 nmf |X:13/21

(1) AR BEfE 1 f= 1.0| A |X:11/21

8) TNIRTY—HE 1 M= 1.0| A [|X:21/21

(9) 1 FEEERUE wi 1.20 mX 2.00 f&ifr= 2.4 [¥:19/21
(10) AA v FRy 7 AfE wE 2,00 EAT= 2.0| &P |4:19/21
(11) =artvr hMgE 1.00 fiE# = Lol f& |X:19/21
(12) =zt Mk 1.00 ffl= 1.o| {8 |X:19/21
(13) AA v FHE 1.00 ffl= 1.o| {8 |X:19/21
(14) AA v FHE 1.00 {f= L.o| f& |X:19/21
(15) AA v FHE 1.00 {f= L.o| f& |X:19/21
(16) HEPBAER BAfE 4.00 fifl = 4.0] & |E:19/21
(17)  HEPAER B 1.00 fiE= 1.o| & |X:19/21
(18) fakEME 204 1.63 m+ 0.25 m+ 0.25 m+ 0.25 m+ 1.50 m= 3.9 X:15/21
(19) HHEME 254 0.34 m+ 1.00 m+ 2.40 m+ 1.15 m+ 2.00 m= 4.9 m |X:15/21
(20) FaGEME 204 0.70 m+ 0.70 m+ 0.07 m+ 0.19 m+ 0.26 m+

0.26 m+ 0.26 m= 2.4 m |X:15/21

(21) PRI 4(18)IZ[AL 3.9 m |X:15/21
(22) PfRiIRFE 4(19) IZ[AL 4.9 m :15/21
(23)  PrRiRFE 4(20) IZ[FIT 2.4 m :15/21
(24) Bl (504) 1.00 f&fr= 1.0| &ifT |X:18/21
(25) ST (25A) 1.00 &= 1.0| T |X1:19/21
(26) RAEKKE v U—1f) fiE 3.00 fEifr= 3.0| fEpT |M:15/21
QN LR T UL 1.00 f#ifT= 1.0| T |X:15/21
(28) VemfbbiaE 1.00 &= 1.0| &7 |X:15/21
(29) A 2.00 féiFT= 2.0( AT |X¥:19/21
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S AR

T4 53 5 EWinE MhikiE TH

£ FR 1 g | BiL S
(30) =7 UL 2.00 fHpT= 2.0| f&AT |X:19/21
(31) ML 1.00 &= 1.0 T |X:15/21
(32) a7k (50A) 2.00 fEpT= 2.0| &AT [X:18/21
(33) a7k (25M) 1.00 f&fr= 1.0 &pT |1X:18/21
5 ZDih
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